
XRAY T1MINI - OPTION PARTS LIST 04.01
XRAY MODEL RACING CARS,   PO BOX 103,  911 50 TRENČÍN, SLOVAKIA

TEL:  +421-905-402724 www.teamxray.com e-mail: support@teamxray.com

PART ORDER COMMENTS

30 1212 OPT UPPER HOLDER FOR BUMPER - 2.5 MM GRAPHITE - CNC MACHINED
30 1214 OPT UPPER HOLDER FOR PRECUT BUMPER - GRAPHITE - CNC MACHINED

30 2255 OPT ALU STEERING BLOCK RIGHT FOR C-HUB SUSP.
30 2265 OPT ALU STEERING BLOCK LEFT FOR C-HUB SUSP.
30 2275 OPT ALU C-HUB FOR STEERING BLOCK - CASTER 0°
30 2276 OPT ALU C-HUB FOR STEERING BLOCK RIGHT - CASTER 3°
30 2277 OPT ALU C-HUB FOR STEERING BLOCK LEFT - CASTER 3°
30 2278 OPT ALU C-HUB FOR STEERING BLOCK RIGHT - CASTER 6°
30 2279 OPT ALU C-HUB FOR STEERING BLOCK LEFT - CASTER 6°
30 2281 OPT COMPOSITE C-HUB FRONT BLOCK, RIGHT - SOFT - CASTER 3°
30 2283 OPT COMPOSITE C-HUB FRONT BLOCK, LEFT - SOFT - CASTER 3°
30 2285 OPT COMPOSITE C-HUB FRONT BLOCK, RIGHT - SOFT - CASTER 6°
30 2286 OPT COMPOSITE C-HUB FRONT BLOCK, RIGHT - MEDIUM - CASTER 6°
30 2287 OPT COMPOSITE C-HUB FRONT BLOCK, LEFT - SOFT - CASTER 6°
30 2288 OPT COMPOSITE C-HUB FRONT BLOCK, LEFT - MEDIUM - CASTER 6°
30 2293 OPT C-HUB BUSHING COMPOSITE (4)
30 2294 OPT BALL-BEARING COMPOSITE BUSHING FOR C-HUB SUSP. (4)

30 3030 OPT ALU ROLL CENTER BRIDGE
30 3070 OPT BELT TENSIONER SET
30 3355 OPT ALU UPRIGHT REAR FOR C-HUB SUSPENSION

30 3400 OPT ANTI-ROLL BAR REAR 2.0 MM SET
30 3410 OPT ANTI-ROLL BAR MOUNTS  (2)
30 3420 OPT ANTI-ROLL BAR REAR 2.0 MM
30 3421 OPT ANTI-ROLL BAR REAR 1.0 MM
30 3422 OPT ANTI-ROLL BAR REAR 1.5 MM

30 5001 OPT BALL DIFFERENTIAL - SPRING STEEL - SET
30 5091 OPT CARBIDE BALL 2.4 MM FOR BALL DIFFERENTIAL  (12)

30 5101 OPT ONE-WAY DIFFERENTIAL PRO - SET
30 5111 OPT FRONT AXLE PRO WITH ONE-WAY BEARINGS
30 5130 OPT INNER DRIVESHAFT ADAPTER - SPRING STEEL (2)
30 5150 OPT TIMING BELT PULLEY 34T
30 5180 OPT ALU SOLID AXLE HARD COATED - SET

30 5315 OPT WHEEL AXLE - 22 MM - INTEGR. HEX HUB - SPRING STEEL (2)

30 5500 OPT MAIN LAYSHAFT W/ SUPPORTING HARDWARE - SET
30 5502 OPT SOLID ALU CENTRAL LAYSHAFT SET
30 5511 OPT LAYSHAFT SPRING STEEL INTEGR. SPUR G. ADAPTER EVO2
30 5515 OPT ALU SOLID LAYSHAFT PRO
30 5550 OPT LOW RATIO PULLEY SET
30 5582 OPT ONE-WAY PULLEY WITH GROOVED ONE-WAY BEARING

30 5620 OPT PINION GEAR STEEL 20T / 48
30 5621 OPT PINION GEAR STEEL 21T / 48
30 5622 OPT PINION GEAR STEEL 22T / 48
30 5623 OPT PINION GEAR STEEL 23T / 48
30 5624 OPT PINION GEAR STEEL 24T / 48
30 5625 OPT PINION GEAR STEEL 25T / 48
30 5626 OPT PINION GEAR STEEL 26T / 48
30 5627 OPT PINION GEAR STEEL 27T / 48
30 5628 OPT PINION GEAR STEEL 28T / 48
30 5629 OPT PINION GEAR STEEL 29T / 48
30 5630 OPT PINION GEAR STEEL 30T / 48
30 5631 OPT PINION GEAR STEEL 31T / 48
30 5632 OPT PINION GEAR STEEL 32T / 48
30 5633 OPT PINION GEAR STEEL 33T / 48
30 5634 OPT PINION GEAR STEEL 34T / 48

30 5720 OPT PINION GEAR ALU HARD COATED 20T / 48
30 5721 OPT PINION GEAR ALU HARD COATED 21T / 48
30 5722 OPT PINION GEAR ALU HARD COATED 22T / 48
30 5723 OPT PINION GEAR ALU HARD COATED 23T / 48
30 5724 OPT PINION GEAR ALU HARD COATED 24T / 48
30 5725 OPT PINION GEAR ALU HARD COATED 25T / 48
30 5726 OPT PINION GEAR ALU HARD COATED 26T / 48
30 5727 OPT PINION GEAR ALU HARD COATED 27T / 48
30 5728 OPT PINION GEAR ALU HARD COATED 28T / 48
30 5729 OPT PINION GEAR ALU HARD COATED 29T / 48
30 5730 OPT PINION GEAR ALU HARD COATED 30T / 48
30 5731 OPT PINION GEAR ALU HARD COATED 31T / 48
30 5732 OPT PINION GEAR ALU HARD COATED 32T / 48
30 5733 OPT PINION GEAR ALU HARD COATED 33T / 48
30 5734 OPT PINION GEAR ALU HARD COATED 34T / 48
30 5790 OPT SPUR GEAR 90T / 48
30 5796 OPT SPUR GEAR 96T / 48

30 6200 OPT ALU SERVO MOUNT (2)

30 8320 OPT XRAY SHOCK-BODY ALU TEFLON (4)
30 8380 OPT ADDITIONAL XRAY ULTIMATE RACING SPRINGS (20)
30 8384 OPT XRAY SPRING-SET D=1.5 (15 LB) BLUE-GREEN  (4)
30 8385 OPT XRAY SPRING-SET D=1.6 (20 LB) LIGHT-BLUE  (4)
30 8386 OPT XRAY SPRING-SET D=1.7 (25 LB) DARK-BLUE  (4)
30 8387 OPT XRAY SPRING-SET D=1.8 (30 LB) LIGHT-PURPLE  (4)
30 8388 OPT XRAY SPRING-SET D=1.9 (35 LB) LIGHT-RED  (4)
30 8390 OPT XRAY SELECTED ULTIMATE RACING SPRINGS (24)



30 8393 OPT XRAY SPRING-SET D=1.4 (14 LB) YELLOW - SUPER-SOFT  (4)
30 8394 OPT XRAY SPRING-SET D=1.5 (17.5 LB) WHITE - SOFT (4)
30 8395 OPT XRAY SPRING-SET D=1.6 (22.5 LB) BLUE - SOFT-MEDIUM (4)
30 8396 OPT XRAY SPRING-SET D=1.7 (28 LB) VIOLET - MEDIUM (4)
30 8397 OPT XRAY SPRING-SET D=1.8 (33 LB) PURPLE - MEDIUM-HARD (4)
30 8398 OPT XRAY SPRING-SET D=1.9 (38 LB) RED - HARD (4)

30 9025 OPT BALL-BEARING FR85ZZ 5 x 8 x 2.5 FLANGED (2)
30 9030 OPT BALL-BEARING MR95ZZ 5 x 9 x 3 (2)
30 9040 OPT BALL-BEARING MR106ZZ  6 x 10 x 3 (2)
30 9050 OPT BALL-BEARING 6700ZZ  10 x 15 x 4  (2)
30 9055 OPT HIGH-SPEED BALL-BEARING 10 x 15 x 4 BLUE COVERED (12)
30 9072 OPT CARBIDE BALL-BEARING AXIAL F3-8  3 x 8 x 3.5 - PRO

30 9311 OPT WHEELS MOUNTING HARDWARE - SMALL (4+4)
30 9313 OPT CONE WASHER ST 4 x 10 (10)
30 9315 OPT WASHER S 4 x 6 x 0.1 (10)
30 9316 OPT WASHER S 12 x 15 x 0.1 (10)
30 9322 OPT BLACK HEX AND PHILLIPS SCREW SET FOR T1  (31)
30 9344 OPT HEX SCREW SFH M3x8  (10)
30 9350 OPT HEX SCREW SB M3x3  (10)
30 9354 OPT HEX SCREW SB M3x8  (10)
30 9355 OPT HEX SCREW SB M3x10  (10)
30 9366 OPT SCREW PHILLIPS SS 2.9x13  (10)
30 9401 OPT LONG CLIP FOR TRANSPONDER (2)

30 9520 OPT SILICONE OIL 20W
30 9540 OPT SILICONE OIL 40W
30 9550 OPT SILICONE OIL 50W
30 9580 OPT ONE WAY LUBE 25ML

30 9612 OPT TIRES XXT-M W/O BELT FOR LOW GRIP ASPHALT  (2)

30 9729 OPT 1/12 MINI TOURING CAR BODY STRATUS + ACCESSORIES

30 9820 OPT PRECISION BALANCING CHASSIS WEIGHTS (FRONT - 2 PCS.)
30 9830 OPT PRECISION BALANCING CHASSIS WEIGHTS (REAR - 6 PCS.)
30 9850 OPT PRECISION BALANCING CHASSIS WEIGHTS (CENTER - 3 PCS.)

39 3002 XRAY T1 EVO2 LEAFLET
39 3921 XRAY T1 POSTER A2  (600x420MM)
39 3922 XRAY T1 EVO2 + T1R POSTER (620x310MM)

39 5012 XRAY TEAM T-SHIRT (M)
39 5013 XRAY TEAM T-SHIRT (L)
39 5014 XRAY TEAM T-SHIRT (XL)
39 5015 XRAY TEAM T-SHIRT (XXL)

39 5201 XRAY AUTHENTIC STYLISH POLO SHIRT  (S)
39 5202 XRAY AUTHENTIC STYLISH POLO SHIRT  (M)
39 5203 XRAY AUTHENTIC STYLISH POLO SHIRT  (L)
39 5204 XRAY AUTHENTIC STYLISH POLO SHIRT  (XL)
39 5205 XRAY AUTHENTIC STYLISH POLO SHIRT  (XXL)

39 5412 XRAY TEAM SWEATER  (M)
39 5413 XRAY TEAM SWEATER  (L)
39 5414 XRAY TEAM SWEATER  (XL)
39 5415 XRAY TEAM SWEATER  (XXL)

39 6002 XRAY WINDBREAKER  (M)
39 6003 XRAY WINDBREAKER  (L)
39 6004 XRAY WINDBREAKER  (XL)
39 6005 XRAY WINDBREAKER  (XXL)

39 6102 XRAY LUXURY FLEECE SWEATER  (M)
39 6103 XRAY LUXURY FLEECE SWEATER  (L)
39 6104 XRAY LUXURY FLEECE SWEATER  (XL)
39 6105 XRAY LUXURY FLEECE SWEATER  (XXL)

39 6901 XRAY CAP

39 7101 XRAY OUTDOOR BANNER 2000x1000
39 7111 XRAY OUTDOOR BANNER 4000x900
39 7201 XRAY INDOOR BANNER 720x480

39 7231 XRAY TEAM CARRYING BAG
39 7241 STORAGE BOX - LARGE
39 7242 STORAGE BOX - SMALL
39 7251 XRAY CARRY BAG

39 7291 XRAY PIT TOWEL 1200 x 730
39 7292 XRAY PIT TOWEL 730 x 450

39 7301 XRAY LARGE STICKER 720x480

39 7311 XRAY STICKER FOR BODY - WHITE
39 7312 XRAY STICKER FOR BODY - METALIC SILVER
39 7313 XRAY STICKER FOR BODY - PURPLE
39 7314 XRAY STICKER FOR BODY - NEON RED
39 7315 XRAY STICKER FOR BODY - NEON YELLOW
39 7316 XRAY STICKER FOR BODY - NEON ORANGE
39 7320 XRAY STICKERS FOR BODY - 5 DIFFERENT COLORS
39 7329 XRAY T1M STICKER FOR BODY - WHITE
39 7330 XRAY T1R STICKER FOR BODY - WHITE


